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Answcr ny livp questions.

I x5:5l. (a) Convert the following :

(i) (l0lF)ro : (?),

(ii) (t0F)r6 
= 

(?),u

(iii) (10101)2 : (?),,

(rv) (102)s : (?)ro

(v) (l0l I l)2 : (?),0.

O) Perforrr addition :

l0l0l + 10001.

(c) Subract tning I's complement Method : 2

1010 - ll0l.
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(d) subtract using 2's complement Method :

1100 l0ll. 2

(e) Simpliry using Boolean algebra : 4
f(x,y,z') = (x+ yxx+ y,z\{x+-xJ-^'}(x, +ry).

(a) Simplify using K-map method : 5

f(A,B,C,D) = Im(0, 1,.4,5,9n10, 12,14).

f(xryrz)= xfY'z+v'y'z+xyz+>tyz' . 4

f(w, x,Y, z) = *(0, 1,5, g,l2,l 4) + d(2,3, 1 0, 1 l). 5

Use basic gates only to implement the below
4Boolean fturction :

f = f(a,b,c) = (a+ b)cd + il.
(b) Use only NAI{D gate to implement : 4

Y - a+bcto

(c) u/h-y NAllD, NoR gates are called Universal
Logic gates ? 2

State and prove De-Morgan's Law. 4

(b)

(c)

(a)

(d)

4- (a)

(b)

(c)

Design a 8 : I Multiplexer.

Design a2 to 4 Decoder.

State commutative, distributive, associative
law of Boolean algebra. 4
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5" (a) .Convert the following into SOP form :

(i) (a+bXc+dxa+b')

(ii) (a+b+cXa+b+c').

(b) Explain the truth table of J-K latch along with
its logic diagram.

(c) Distinguish betrveen sequential and combina-
tional logic. 2

(d) Explain the operation of a S-R latch with its
logrc diagram 5

r'

6" (a) Draw the block diagram of the following :

2x2:4

(i) I :4demultiplexer.

(ii) 2 bit ripple carry adder.

(b) Write down the truth table of the following:
2x2:4

(i) 4 to 2 Encoder

(ii) Full Subfractor.

(c) Explain the operation of a 2bitasyneromous
counter with timing diagram. 6
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